— R R BT

. £
= | FP | 58
—. I ik
1o B ETHEMNE Fi AT = 2.9
Hp . SfEfdialb e AT = 79
v LIk~ E FT = 7
H: >tahadl ATT = 17
3. DIHEME AT = -1.3
4 Ty % | 8033 |y
B | B o
- (£2%)
=
&R mE &2 AT | 95853 | 4.0
Hrp. fREFER AT — 259
PR TZEFER 7T = =
=. ®T=RME ATRE| 17352 | 4.7
Hi: TIFHHEE ATERS | 9307 2.9




g | B E;‘ﬂ%}
. [E7ERE P FohEn 7T — 15.0
Ho. Tk ATT — 774
2570 ATT = 102.4
FIBRE AT — 473
pIlb=Rld AT — 883
R T W v 7T = 67.2
il mn BT S E AR RRE = -54.7
B MEL. 250
T — e HFNEHILA AT | 23956 10
2. s A7C | 60723 8.6
3 ERELAEAEI D FRRE AT | 1997576 | 74
HEoi: ERmESTFE0R AT [ 1579105 | 135
4. ERELAARIN D EEREN A0 [ 1799338 | 95
v AT RN A
16 2 JE AT SR LA piv 8916 52
Hrh. WEFERRITSRNLA | JT 11606 45
TArFERRAIZENA | T 6393 77




EMH BEME)EERER

®ir. FA
X E~SE sk iEnn{a
134 =l 135 g
=1 (£ 21T (%)
T8 — 5.2 — 4.1
£ H — 4.9 — 4.3
=i 1279650 53 724624 4.1
RRizE 531374 5.6 220970 52
[ ZEh 1007989 2.0 516865 31
= 8 401133 7.0 206264 5.0
Hrieg 236081 6.3 118102 4.3
HEE 154924 7.4 79150 3.2
TEH 1162441 5.4 455241 57
#LEToHEhE SR A E R ME
1-.3H 120g 1-3H 12E
1 (£ 2 21T (%)
ot = = 7.6 — 3.4
£ H — 6.2 — 12.3
=iy (B3 = 7.5 — 537
RRiEE = 3.7 — 25.0
[ &Eh — 0.2 — 3.6
T B = 72 — 44.3
Rt A= = 2.9 = 7.1
HEEE — 155 = 1.6
TEH = 7.5 — 8.3




PH=HEE T HEBE
ChT R.E Ch T BB
1-35 120E 138 g
ERh (£5%) ot (%)
B = — = —
= h 475283 8.4 319991 8.0
=M 123394 9.1 52357 27
RREE 69554 8.2 51727 6.6
[ TEm 119823 14.6 82652 18.2
e & 38603 16 21881 6.7
Frias 17352 4.7 9307 2.9
SR 11683 5.0 4606 5.8
TE™ 94273 517 70292 2.8
—Hr - R A H=HEMEERE
1-3H 1=20g 1-3H =g
EA b (%) 21T (% %)
A e = S 4.0
2 h 500196 -15.9 2106220 3.5
BFHE 20752 233 §75003 2.6
HNEE=] 58379 132 215065 2.8
[ &Em 108015 -14.1 472648 2.7
T B 44532 121 221556 25
EEERS 23956 1:8 95853 4.0
nEEE 16944 25 66726 5.0
TEM 91076 -18.1 359368 5.5




E1E PMz 5 FEHE
g7 | # | ey | BT
i (£2) 7@ (£ 2%)
B8 = — = =
2 h 526035 6.5 — —
=y E 129604 4.4 48.6 -15.4
=] 30659 12.2 49.5 -17.3
[ &Em 120818 15.1 42.0 221
£ 8 57837 7.5 39,7 9.1
bS] 31391 8.7 41.3 259
SRR 6184 348 341 -30.2
TET 99620 5.3 44.0 222
EREANAGEIND EREAY AT
TEmh A TITh T EN
1-3H5 ] 135 ]
Zit (%) Zit (%)
=gt = 8.6 5 14.3
2 33529639 3.4 20933434 14.0
=iy 11980236 105 10559683 10.0
SRS 3372646 9.0 3184530 15.1
I iEm 6032326 114 6110410 18.3
iz B 3490814 Hi5 2216336 19.5
RS 1997576 7.4 1799338 9.5
JESRE=T 1503516 2.4 1148498 9.6
TEM 5152525 0.7 4914639 17.6




BEER =5 FlBl9=EE
138 =g 1-2H =g
=1 (%) 1T ()
o — 6.3 — —
= h = 8.3 e 6.0
=X = 3.1 7 0.8
RRiEE — 6.6 = -10.4
I — 0.8 — 433
e 8 = 20.6 = 6.2
iR = 15.0 5 47.3
R — 12.0 — 5.5
TES = 2.1 w 4.8
TR IETR T R
135 12 1-35 12 g
2t (%) 2t (%)
5 — — — 227
= H = 7.7 == 13.3
= — 26,9 = 57.1
RRiEE — 221 — 8.4
[ &m = -10.9 7 -24.8
e B — 282 — 56.9
2= ] = 102.4 = 77.4
JESRA= — 2.3 = 71.2
TEM — 18.5 — 16.9




[RELA EiE T T ER

1-35 1EiE 1-35 1

21T (%) 1T (+ %)
5 = = e =
4 ™ = 4.3 = 12.3
FHE — 0.8 = 42.7
FREE — 16.6 o H2
I Em — 136 — 22.4
= 8 — 23.0 — 102.9
SRE — 25.9 — 283
hEEE - 47.9 “ 837
TET - 17.0 4 16.9
B =35 B HaEHEmMA

1-35 1BiE 1-28 1 08

L (%) Fit (%)
== = -13.7 s =
2 = 42 6 = 301
=M — 36.0 5 376
FREE — 1.5 — -50.3
[ &Em — -87.1 — 24.6
e & = -36.4 e 0.0
SRR = 67.2 = 547
nEEE — -35.0 — 15
TET = 28.2 4 1.4




BTN ELRL 19 AR B
1-35 120 1-38
E (+% 21t
ol — — —
£ — k| —
=FHE = 2.4 =
FREE o 10,2 =
[ & e 58.4 =
iz B — 43.2 —
SiRE — 14.9 —
PEEE - 27.7 =
TET = -10.2 =
e iR a4
i2%H 120 1-38
2T (+ %) 21T
5 13979 4.7 6920
== 13865 4.2 2016
=FHIE 14269 3.6 9013
PREE 13556 4.3 8533
[ 14147 3.8 7694
iz 8 12296 4.4 6350
SiRE 11606 4.5 6393
PEEE 10411 3.5 5690
TET 15097 3.7 3502




